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5x-2y=6
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3x+4y-12=0
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Formula
Midpoint of a line segment   					
Equation of a line						 
Slope of a line 							 
[bookmark: _GoBack]Slope of a line given points on line				
Length of line segment or distance between 2 points		
Parallel lines have the same slope				
Perpendicular lines slopes multiply to give -1			
Exercises
Find the Mid-point, Slope, Length of line segment and Equation of the lines for the following points
·  and  
·  and  





Perpendicular Lines
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Two lines with slopes m; and m are  parallel if m; = m..

perpendicular if mym; =

Example:  Find the equation of the line through the point (2, 1) which is perpendicular to the line = — %x +2.

Solution: The slope of the perpendicular line is  — L, 2, so the equation of the perpendicular line is, using the Point-Slope
=2(x-2)

Form:  y





